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Execcisr
Suppose spotify chooses your next song by selecting from among the 1000 previous songs
you've listened to (each with an équal chance of being chosen). In my spotify history, 150 of my

previous songs are childrens songs (e.g. Baby Beluga & PJ Masks are all too well represented!)
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For each of the situations below, clearly state each Poisson assumption in the context of the problem and
give a real-life circumstance which violates just this one assumption (not the other)

) arrival of aSmbmaLy car ot T Stonon
CONSNOCT rode: proce  Cos  actelod dunrg
(s houe
INclopendence :  cortrollec fres 4o e\fenly
space  Cac

Z) cot¥ees  Rerved at Stacbucks eachhdur
Lrom 6AM 4o SPM
Conlant: bugies cbase WY Cugh how
Inclepanclence: a grop ordac

Exrccse |

A starbucks serves, on average, 5 drinks in an hour. This starbucks has only 3 coffee cups left.
Estimate the chances that the starbucks runs out of coffee cups in the next hour with a Poisson Distribution
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